
CANINE	CALCULATIONS	
	
	 				6			15	 	 	 	 	 	 	 3		16		15	 	 	

1)	 4	7	5	 	 	 	 	 	 2)	 4	7	5		
	 -		9	6	 	 	 	 	 	 	 -		9	6	 	
	 							9	 	 	 	 	 	 	 3	7	9	

	 	
	

	

	
	
	
	
	
3)	 6	5	8	 	 	 	 4)	 3	6	2	 	 	 	 5)	 7	8	1	
										-	 4	7	9	 	 	 	 											-	1	8	5	 	 	 	 											-	5	9	2	 	
	
	
	
	
	
6)	 4	4	4		 	 	 	 7)	 1,	5	7	6	 	 	 8)	 2	6	4	
											-	2	6	7	 	 	 	 		 				-		9	8		 	 												 										-		1	6	7	 	
	
	
	
	
	
9)	 5	3	2	 	 	 	 10)	 			9	1	3		 	 	 11)	 2	5	7	
											-	3	5	7	 	 	 	 	 -		7	0	5		 	 	 											-	1	6	8	 	
	
	
	
	
	
12)	 7,	8	1	0	 	 Challenge:	 Take	the	number	of	weeks	in	a	year	and		
	 -			6	4	5	 	 	 	 subtract	the	number	of	days	in	a	week.	
	 	 	 	 	 	 	
	 	 	 	 	 	 	 _______________	weeks	in	a	year	
	
	 	 	 	 	 	 						-	 _______________	days	in	a	week	
	
	 	 	 	 	 	 					=	 _______________	
	
	
	

You	can’t	subtract	9	
tens	from	6	tens.		So,	
borrow	1	hundred	
from	the	hundreds	
column.		Now	you	
have	3	hundreds.			
Find	the	answer!	

You	can’t	subtract	6	
ones	from	5	ones.		So,	
borrow	1	ten	from	
the	tens	column.		

Now	you	have	6	tens	
and	15	ones.	UYI	
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You	can’t	subtract	9	
tens	from	6	tens.		So,	
borrow	1	hundred	
from	the	hundreds	
column.		Now	you	
have	3	hundreds.			
Find	the	answer!	
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